1. Question: IRAT NRIF G [[RTTF TVT SEAFST I% FIF 547 ?

A) SR G
B) P GEITETT

C) Iz TR
D) AT ow (Tasy
Answer: A) BTT6E (938

Explanation: - "I5@TAT 8 WfXey T NRTeTT IUN ST 5% J] G Tow (938 T647 FEF Sbd by
RIGH

2. Question: "SI FFTT BT FIPHT" (F ToA1 F(EF?

A) 39964 [AWTsTIsTE

B) 2% A9 29

C) 3z TRy

D) SIS SEITERT

Answer: A) %9865 fuSIsIE

Explanation: SATSFNE SETMET ST "SR] FFTT IBAT IS F6AT FEA S8 NI |

3. Question: "WEANT IV FJ (F? Abo WG G0N ST Show AT FEG FP
OI=0 [Amrife

Answer: A) Sitceay

Explanation: SEETE (T8 TN - {¥F A& - TREAIE A0S IReTH 1 - I, fofer szt
T FERT RFO ST | - AT I Ao (@97 TwRata anfv $iF 77 271 fFwyrefs swet
o] FEGRS TOF[ ST | Sfel AT TIM AT AHBw|

4. Question: TSRt X F® F @RE?

A) R o1F e

B) SI%ferd ANy Ffbe

C) tofd 771 Fhos AR Ffbw I

D) 336 BT T4 I2E I e o¥F afbe ¥




S

Answer: C) (ofd a1 Ffos 81 qtw ¥

Explanation: SJf¥ MX(e1d 7817 8 SRIAING 7% & feq o 27 (e amaad F@EEA| -

5. Question: 'N*TeT (T FAT FIFT TFAT?

A) SHINGTAIT

B) &y&aT 73

C) FTSI TSR I
D) FIuNN FA

Answer: B) S(oT@d w3

Explanation: - ¥#f¥e] 3wy 5137 aft© o5 FNeE MFA| - FITANT 5T FIF (FF FI0]
A ofF @™ 92 361 - NPeT T FS AP INATEHT FIT TFeq

6. Question: FIGANNT (F1 T=T F6F?

A) (G Fifer
B) INT

C) 9E-IRE&
D) I5Fa

Answer: D) F&&3qt
Explanation: &334 - TGN I3 Ab® I35 TR 6P q6H | - 6 $534 A FF1e 27| ©fF

IS - TIFEa Fenvl

7. Question: (I FIT IEAT FIE TSP AT FIATS @ RA?

A) Rt

B) S

C) FI31S 2P F

D) A= IE SASTHA

Answer: A) @3t

Explanation: - TS TS 357 ‘SAAMHIT STA FfIoT T6AT Jel§ FIFII FE|



8. Question: FB TP 3T TN IFro (TN (FAG?

A) st
B) &

C) a1
D) IrSTSTT AR

Answer: A) @3t
Explanation: I8 7o 3R S0 SF1TS (71 AT 51 IS AAFTRA |

9. Question: ¥85® AFFF TS (F fET?

A) PR 3Iq S%ed
B) ST FTEATH TS oty
C) IS AT 87w

D) (amarEm ARG

Answer: A) fF@E 915 SI%1
Explanation: - ¥85T® AFf6 Jfta MNF AEFFTI - S©¢ TN (SDS SET) AT AT (TRET

ISR T FaFTe] (IF A6 g1 271 ST IRAHeAT

10. Question: 'STTe NSEF M FI[FIEGI FF (F?

A) T AT TR
B) Smas« g
C) *T{F [
D) %A =T

Answer: C) *TS[d 1R

Explanation: - ST SSTET MfA TIFF W 66 (T8 FITIF| - AW S» b FFer I@m afe
FFIS 2T $88 S| - TG FF AT 2FAET Jfe T35 FAT 27|

11. Question: "TF TIfF* SATHT TofToT (F?

A) 53R BEB

B) @& ICWENENT

C) S5 (STt
D) XE354 GEITENT



Answer: D) *F354 GEIMENT

Explanation: - 3353 SEIMENT 66 TOAGF ST TET AT TS I $DIG N FFI6 771 -
aft Ao T9F1E O FE |

12. Question: =T g o {F?

A) SIS
B) fary
C) st
D) I9IFE

Answer: C) Je1s

Explanation: ST (fICTT): 31 S, AIAAT| 2. (S| o, 2057 TfF ((ora SO5ren=) | 8. TFF1F
(ST AFANE SR G AT FAO% - HIT6T FHR) | {(SITH TN TGS T+ VAT+9A(FF)}
T3 SMYfAF IREAT AFTNOA ST |

13. Question: % JT WA T fF FINH?

A) FTTETS! =t A6S =y AT FfIw At

B) @ 1 @A &7 5 r3d [Row 5f®
C) A1 1 ¥ Mfs

D) TSI T6S (MBS Toell

Answer: A) FI6TG =67 F6f6 7w A7 FIwTRet

Explanation: - J1¢1 S1FTH SEIST STTRGTTET T 51Ef | 99 B Goar<IeR| - SEgEs
FNfITTF 2 NEST TF, TAT 3 T AGINT | - TG S 5% AT ARIFCT F; ©IF 3
@ WY (FIE 4T (7R

14. Question: IR WIROTH 2foFa (SNgfer

A) FTHT To1 FEAF?

B) ©. JRFAW RIGATR 3 AW S SR
C) . 3TFAW MRIGETR 3 Y27 ST 712
D) 2T ST 2R, ST ST 3 ST =TT

Answer: B) . X% TRIER 3 CTW AT ST



Explanation: Ik ReTF 2f6qe (AMYAF J5T) TTHIEH To(Tol 537 9! e | i 2w
SR TREF Y AF@ 3G SAFTT FEH |

15. Question: @6 5F?

A) (STET (JTGTSE)

B) @3 (FIT5a3)

C) 93Te@ faasfer (Tsrery)
D) SE W91 (SSTTT)

Answer: C) 9F18@F fMaafe (So=51)

Explanation: ASafed S - (SNT| FfJeT - AR s widt - Fsiafod ST | Jfeqma
FIOCTARYTF 5% - AFTSES MaSfer| T IRAT S 8 TifRes F@-T. GNfda Cr"

16. Question: (F1AH TS T () -9F St 552

INEEZIR
B) W=

C) FFor
D) N ©T%d

Answer: A) AT

Explanation: - TR 33w S 29 2P (WT2) 97 ST [T TFSIEH T6a] $@EF| - 97
SFTIFTT S8 N - (NRTAW SO DA AFS JH (T JroFI! (F3F | SE, - N . 97
SR 'TF-SFT AT To[To] FT8 TGF 29 | B3N IRAT SAT 8 2wy F@H-G. Gifera Crag

17. Question: S9EAT AT -

A) SRR
B) SR FE5ae
C) 39a64 89
D) AT 5154

Answer: C) 39964 89

Explanation: - ST T A& INTAN SIFF TR T FE@A| - ©IF 60 IR J1
SIPRES SaF | - 97 (JFRE BT W2 TSI ST e | T3H: IR



18. Question: 'IRAT AFNGHN NfFF IR AfGH' a7 THWF (F?

A) 2T A TR
B) Iz MR
C) A7 AT 2F
D) Sz w %

Answer: B) 323" ﬂ%‘g_wi

Explanation: IRAT AFTSH TfFFF IRAT AT AT T=0F T ARHAT TR |

19. Question: 'TEFF0T (I PR (TR T@®, Fi fTl' - 93 @ FI 97 ol

A) eI
B) q1s1
C) fasm
D) fRafe

Answer: C) frm

Explanation: ‘& {35, ((NF6T (I g =G F11'— 93 AF53H 31378 Q@ [[AE TFICT| (SHfASI,
fSFF0T F A= (TR TR, F1 [F5m!' I A=757 7Wi6 (F) {E(E o 577 @ | 3- IRAT SH
TS, AIN-TT T |

20. Question: 'GIET FIS" JITHAT o7~

A) STRIHTT
B) IrHE (&
C) W<

D) (SB[

Answer: A) STRITFIST

Explanation: 9F (5147 - THf6E, FHMEYT AFW0T IS - TSNS {37 9fR 13 - {7776
SIS BIFH P - GRS, SIRFIF, (TSR AT AT - BRI TIN: MF IRAT IFAT 3
RIRINREYEEY

21. Question: Each question below consists of a related pair of words. Select the pair
that best expresses a relationship similar to that expressed in the original pair.
Submission - Yielding.



A) Subjection - Liberation
B) Restrain - Indulge

C) Restriction - Relaxation
D) Compliant - Acquiescent

Answer: B) Restrain - Indulge

Explanation: Submission 3 s%w1, Yielding a1 /1%; Acquiscent 3 7S, Complaint G |
AT TAENGH 1S TSI A7 JF FHS] AR (72 7, (F 5THS (R FHS A |

22. Question: Vacillate - Hesitate.

A) Persevere - Waiver

B) Impulsive - Deliberate

C) Obstinate - Accommodating
D) Irresolute - Indecisive

Answer: D) Irresolute - Indecisive

Explanation: Vacillate 93z Hesitate SS@EA2 91X 2 [GX1A® 2871 97 M@ SNAF =7 (SGT 2@
Sf8F S| A Irresolute 433 Indecisive a1 fFnfae I7 s(F | SIfdF Tad - H) Irresolute -
Indecisive Obstinate 3 AFSE 433 Accommodating 31 I, 997 fIs7Fte T FF77 FEF|

23. Question: Assert - Dissent.

A) Endorse - Ratify

B) Reject - Disapprove

C) Acknowledge - Recognize
D) Affirm - Object

Answer: B) Reject - Disapprove

Explanation: Assert 31 Wif $a7, Dissent 97 a1 3T SRS Fa71 318, fI7Te 51F Wy a7
OS] 2T TOF SoF | Affirm T THoIE (FF FAT 93% Object N AFIS F4TI

24. Question: Distort - Twist.

A) Straighten - Bend

B) Deform - Reform

C) Observe - Blur

D) Harmonize - Balance



Answer: B) Deform - Reform

Explanation: Distort T 211 e 41, Twist T8 IIFTEAT | (IR I7T NNRF 147, (17Q
(Harmonize - Y397 $47 9% Balance- ©1FN) %1 4».<H)Yﬂ°5_<ﬁ Sod 2|

25. Question: Government has been entrusted elected politicians.

A) with
B) for
C) At
D) to

Answer: A) with

Explanation: Entrust: to give someone a thing or duty for which they are responsible.

26. Question: He has paid the penalty his crimes five years in prison.

A) after, in
B) at, by

C) about, at
D) for, with

Answer: D) for, with

Explanation: 33T paid for N 2 (FSE® (W71 AT 19516 2(F, He has paid the penalty for
his crime with five years in prison. T 31X 2ET - (7 OTF ITINHT Sels 176 TR (5T (AG (AT
|

27. Question: The path paved, so we were able to walk through the path.
A) was

B) Being

C) has been

D) had been

Answer: A) was

Explanation: 93T& 96 clause 3= past tense -a1 AT & FTO past perfect tense 93
M FH past indefinite tense T@| f3F IFHT T - The path had been paved, so we were



able to walk through the path.

28. Question: In spite of my requests, he did not

A) give forth
B) fall in

C) get off
D) give in

Answer: D) give in

Explanation: Give in SIT@ (I S #4711 .°. Give in 9@ 176 SEF 27| IREAT 91X WG -
"SR ST WSS (57 SRITeNsfel FC fer |

29. Question: The children studied in a class room windows were never opened.
A) that

B) which

C) where

D) whose

Answer: D) whose

Explanation: @WH&WST 409 Relative Pronoun who, which, what, whose, whom, that -
201 976 27|

30. Question: To stay healthy, we must plan to have a balanced

A) food

B) figure

C) outlook

D) diet

Answer: D) diet

Explanation: IT°% f3& S1218 S5 S 41 A7 balanced diet 48 S@S |

31. Question: We must keep our fingers that the weather will stay fine for the
picnic tomorrow.



A) raised
B) pointed
C) lifted

D) crossed

Answer: D) crossed

Explanation: Keep one’s fingers crossed (cressed) 3 X1 SR (TR FT, FIHAT FHT

32. Question: They have their support for our case.

A) deferred
B) disavowed
C) provided
D) pledged

Answer: D) pledged

Explanation: pledge - SfS@I/HIFE FT; aferslo MTT, IS TTH/ A SFoqm 23T RIELC!
pledged I 6 Sl TJ| IREAT S - @A VAT NRTS] FA® 1T AOF oI 2|

33. Question: Cul-de-sac

A) selection
B) bubble
C) error

D) dead end

Answer: D) dead end

Explanation: - The meaning of 'Cul-de-sac' is 'Dead end' - *&fbd I« FTA1sIer (Noun),
FASIRTE (Adjective) | - Synonym- Impasse. sfa: Oxford and Bangla Academy Dictionary.
34. Question: Parcel

A) quarrel

B) unobstructed view

C) postage

D) piece of land

Answer: C) postage



Explanation: Parcel (noun): Meaning - A piece of land, especially one considered as part of an
estate. IRAT I - 9F 71T S (TS (FIEAT SF@F 91:7) | Source: Oxford Dictionary

35. Question: Ruminant

A) Noise-maker

B) Soup

C) Gossip

D) Cud-chewing animal

Answer: D) Cud-chewing animal

Explanation: Ruminant (noun): Meaning: An even-toed ungulate mammal that chews the cud
regurgitated from its rumen. The ruminants comprise the cattle, sheep, antelopes, deer, giraffes,
and their relatives. IRAT 91 - (AFEF I FEF FT67 (M) | Source: Oxford Dictionary

36. Question: Read the following passage and answer questions (36-40):- On the face of
it, telescopes and data bases sound like very different things. Telescopes sit on the top
of mountains, and are pointed at the skies data bases sit on computer hard disks,
humming away and going no where. Yet they have something in common; both allow
astronomers to explore the universe. Modern telescopes are highly automated pieces of
machinery equipped with digital sensors that produce reams of observational data. Such
data can be stored, processed and distributed just like other digital information. This
means it is no longer necessary for an astronomer actually to visit a telescope to make
observation.

A) Telescopes and data bases can be confusing to the astronomer

B) Telescopes and data bases are both becoming relevant for the astronomer

C) Telescopes and data bases have nothing in common for the astronomer

D) Telescopes and data bases complement each other for the astronomer

Answer: D) Telescopes and data bases complement each other for the astronomer
Explanation: They have something in common; both allow astronomers to explore the universe.
So we can say, telescopes and data bases complement each other for the astronomer.

37. Question: Data bases sit on computer disks, humming away implies.

A) Data bases are singing instrument
B) Data bases are useless and static



C) Data bases are things of the past
D) Data bases make soft-sound but ate working away

Answer: D) Data bases make soft-sound but are working away

Explanation: - Humming away refers to continuous humming but we must know that data
bases are not musical instrument as per the passage. - So the sentence from the passage
"Telescopes sit on the top of mountains, and are pointed at the skies; data bases sit on
computer hard disks, humming away and going no where" tells us the telescope continuously
work and make soft sounds.

38. Question: Modern data base produce reams of observational data.

A) Data bases are of limited use in strong information
B) Data bases are pecked with paper

C) Data bases create information instantly

D) Data bases produce a lot of information

Answer: D) Data bases produce a lot of information

Explanation: - A database is a collection of information that is organized so that it can be easily
accessed, managed and updated. - Computer databases typically contain aggregations of data
records or files, containing information about sales transactions or interactions with specific
customers. - So we can say that data bases produce a lot of information.

39. Question: Read the passage and answer questions.

A) The contemporary astronomer needs to look at the sky from a mountain top.

B) The contemporary astronomer needs a telescope to explore the universe.

C) The contemporary astronomer needs heavy machinery to explore the universe.

D) The contemporary astronomer needs a telescope equipped with digital sensors to explore
the universe.

Answer: D) The contemporary astronomer needs a telescope equipped with digital sensors to
explore the universe.

Explanation: - Modern telescopes are highly automated pieces of machinery equipped with
digital sensors that produce reams of observational data.

40. Question: A good title for the passage will be-



A) Telescope and exploration of the universe.

B) Space exploration in the new millennium.

C) Astronomers and exploration of the universe.

D) Digital telescope and exploration of the universe.

Answer: B) Space exploration in the new millennium.

Explanation: The passage tells us about how modern digital telescopes have become and how
they help astronomers to explore the world easily and efficiently so "Digital telescope and
exploration of the universe." is a suitable title for the passage

41. Question: 36 T Yo (A T8 T o (WF B (RIG| TATG F©7?

A) Q@o
B) 9o
C) voo
D) 9wt

Answer: B) 9vo

Explanation: % 526 'F 37, ORE, F - YGo = B0 - F JT, 3F = B0 + YGo TN, 3F = 8% TN, F
= qu(¢

42. Question: (FIET TIAHT vo% SIIE 972 0% IR T FIE| ST T = FIEN Yo%,
ToF [TAT ToF] F0 5 (T FACN?

A) $¢%

B) 5%%

C) 1%

D) 0%

Answer: B) 5%%

Explanation: sIfiite =T = w0 % B SIfate T = (Vo - $0)% = 0% IRTIT APT = 90% BY IRTH
SPT = (90 - $0)% = 0% IF A2 T&T [T T = (R0 + S0 + Y0)% = 0% .. & AW (He =
(00 -90)% =5%

43. Question: (T (FF FOITF T2 TET W8 (F BT FAE Jf6 GF@ @S FAIHE ATF?

A) ©g, 8¢, LV, Sho, VNG
B) w@, 80, Y&, SSo, VNG



C) ©g, 8¢, 90, S0, OS¢
D) @@, 8¢, bV, S0k, WS

Answer: The correct answer is:
C) v(g, 8¢, 90, Yo, VNC
Explanation: (X & Fre1FF AT FIET @8 (F SIS FAE Ao (F@ 0 A A, (T TG 0

FACTHT TG 9T TRATD (08 - ©Y) = wi¢ AT THTFT SIFTF | 0S¢ 9T TIAWF (6 = ¢, 8¢, Yo,
Y RCING

44. Question: 336 45 ©o BIFT fTFT FT 20 BIF] Ffw 2@ Ffog o] 3T F0?

A) 8%
B) "%
C) 1%
D) ¢%

Answer: B) Y%

Explanation: Si¥13, FI3W = @o+30 = 8oo BHIFT 8oo BIFIN B 2F 20 BIFT = & T Ff6 27
20/800BTFT = Yoo BIF Hfw 27 (R0Xv00)/800 = ¢ BIFT .. Ffod o TF = %

45. Question: 76 TS AT I TG S>> T TG AT Fo?

A) 9o
B) vo
C) o
D) oo

Answer: B) o

Explanation: 3G SRATB = F + S X, (16 RAMD = F TINW, (F + 1) - FR = 590 T, |+ IF + 5 -
PI=VDANLIP=DID-5=P T F =3 .. T MY G=F+5=>>+3 =300

46. Question: x+y =12 A8 X-y = 2 X[ Xy - 3T q $97?

A) 144

B) 140

C) 70
D) 35



Answer: C) 70

Explanation: x +y +x-y=12+297,2x=1439,x=7 .. y =5 So, XY =35

47. Question: 9% Tf& ©1F T T ¢ I=EF G| F HF IIV (T IICE 8 8| ¢ T=F T&
(T TIF S} T2H T T D TG I F972

A) bt IRF
B) v =T
C) ¢ =7
D) wv© JRg

Answer: B) Y I=d

Explanation: ¢ I%F T (EF IIT b3 T2F (A 6N I 9 I=F I3, HT ST IIT 9 x 8 = 3%
TRF .. D T[T IOTF IIT IV + ¢ = ©0© TRF

48. Question: Yo FIBTE (s A 936 I © : 91 So IJYM® ST FACE FFAISER T2 F©7?

A) v RIBTR; 33 RIBTE; wo fiGE
B) So fNBTH; 20 fBTH; wo G
C) s fRIGTE; 20 fBIS; 2w RIGE
D) » f61E; 3 FB1F; wo fBF

Answer: C) 52 fB1F; 20 fB1F; v NO1F

Explanation: S ToSTH (FTSHT © + 9 + So = 30 .". ZREISTEIF FRS: = (@ x bo)/ro = = (9 %
Yo)/Ro =3 = (bo x bo)/ro = vo

49. Question: 936 FF© SIRTTH 2T 3 TR ATF X , 9 3 T BOF (VF © [T FACT (T ©AR
ST I ©IF JOT b/8 (15T FIE (T5HT b 2, SIRTD F07?

A) /5

B) bw/s¢

C) S8/

D) /5%

Answer: B) b9/5¢

Explanation: T3 & (T 39 $+3, YOIk BARAG F/(F+3) TN, {(F - ©)/(F +3-0)} +5/8 =5 7],



(F-0)(F-5)=5-(5/8)=9/8 AL, 8F -3 = 0F - 0 AL, F =5 ." flT BIRT D/(d + 3) = DS

50. Question: (@1 271G 2B ?
A)o.©

B) b/

C) /¢

D) V(o.9)

Answer: C) 3/t

Explanation: 0. 5/ = 0.9©@©W (0.) = 0,489 3/ = 0.80

51. Question: IRAI-SIFO M Ffea (FAW-

A) So IRF
B) 0 9RT
C) ¢ =T
D) @wo 929

Answer: C) ¢ =

Explanation: - 53>\ STEE b} SOTER ©1RGF aFiEd FEETW 2O S1Fe 8 TRANCTA MY ST
T = F5F A §fE ITHFE 271 - 3 {fea AW wo T=F| - §fE AGI IRAGT 0t IS
FSTTF M MNiEF [N AFES VR ©F I | (SJaz IRAWHEAT)

52. Question: IRACTE NIEF (@FF Ul SFEAFIE g (FAMG?

A) 7o

B) W=

C)®

D) tofd (MM

Answer: A) 76
Explanation: TR SIe® SRIHT- 2030 T[T, - TG (@A 4T TETSTE FHT 2T (ofF

(T 8 MGSTF PRI - Y04D-30Y0 FYTRE IRATCIF (N6 TN NI AT . ba8 &
MFT TAF| - 97 Ty 9% Ao FIAT AfFT 295 ¢ IS TOg I (NG FTHT T wo ©IsT|

53. Question: F3ET A6 (BARD) 97 afeTe] (372



A) GRS SRYF A

B) 4 (F HO¢ I3
C) S 13w AT ST
D) SIeTd 21w AT

Answer: A) WW AT
Explanation: - BARD (Bangladesh Academy for Rural Development) J7 1R EEIRCERE

AFTGHF ASDTOT T. ARG W A | - o7 AT FET (SR (FIHATONS I S>> FEF 39
Ifefde 23|

54. Question: RI-G%] W TAT (FINT S FT TI?

A) G

B) RIS
C) FAM®
D) MRIE

Answer: A) G191 ¥

Explanation: - $» b\ ST I35, CTH BT TN 393 60 = 7] 71T (F ITSITH J[&F Taqw AT
ISTATFIOT I | - S G Y TER ¢-b HFIAT TRFIER AR oS [HEETTHRE TR
TP TN =T T W S | -

55. Question: TRTT EFTRT S TTH (F TIGF FEN?

A) SIES @RS

B) #3©

C) & (A

D) 3T

Answer: A) STTE RFSHT

Explanation: SITE (G5 189 AW Sely SGHT] IEIRI 3 AFTAT IEIS 51 FE | 5, 97
TFHSEN TFGNT TST AT T T 5% T T6 FASTNTHE SO TOAF (SAET 3
(AR WAT @ SSTET 23|

56. Question: IR NIGEF TIE@F (O] (FAG?

A) e



B) 1=t
C) T« a316
D) PTG

Answer: A) fTessg
Explanation: - 51%sTS f&eT {36 N Afea0oid SeiRafl o sege a3(0 A1 - TPTS

TRETECTR T SO (S| - BT (A AT 8oo [FETTIBIR YT (WeTa ﬂa‘\sem (ST | RS TRE
(TS ST A1EH foR-PRowa wsfde Ffonfse @ TS| -

57. Question: NG (F1d A0IF ©IF AI30?

A) SIS Y
B) 1T
C) &l
D) &=

Answer: B) 7571

Explanation: - S5 541 I21& Fald el AN-NAYET & [FOTNSTF TPz b1t (3@ SS5F | -
IAF STASF A AT FTRG (SETH S ANE F 6 (ST TN@Ie! S T9a~[& TN 3
SRR A 16 ¥ AT IRA@CT ST FE |

58. Question: IRTAMCTH (MBI FHF (FIAT A(Fe?

A) ST
B) "MIo7d
C) o131

D EICIERIR

Answer: C) GIFT

Explanation: IR ((NF 8 F1F 1 JEF: - CTATRSIT (TG SEF TS BT (VF 38
PTG T SIafHe A3 (ST (TR SAEH Ao | - RN (TBATFT TTHT,
AT 8 FIATRCEF NS CHRER (NAIHT [0 QT 77 08 > T ey SFfeT ANFAIEA
ST IRTPT TEFTH [P A777T A 9% e SS9 FE |

59. Question: IR TS AAII TG (F1F APETH?

A) T
B) k7



C) Ff3en
D) &G

Answer: A) FBITID

Explanation: - I$3@ fHAT 3204 SEG I7AN Fa0 | 66 127 8 TR, CNTS IO (ST
FATSTE, ThA57T, FATOGT 8 TGEAT V], INEHT {AFHNG AT TARSEHT RIS AT ITANT TH FAT
T

60. Question: IEYFHSIET IR FIMC THE SIS FAT 2J?

A) 6
B) wT
C) T&d
D) asng

Answer: B) w7 (Ten)

Explanation: $>95 ST So af3e SRRt S @it FaF1F 5ifde 21 - 4 FIFF S So AfET SIS (T1F
8 f6 CTR@ ©IST F@| b AT O Teforde @ W66 (T o® F1 2| - A=1ST foafs S (T 19
AR o TR L8l TR TR E fAow Fa1 271

61. Question: 3R] TEHTA H3F T FROCT (FINI?

A) (o2
B) faam
C) FI@T
D) (ST

Answer: C) $1ET

Explanation: - 5> b> NI ¢ (FCbTF FI@E TN FATS 2N STCHT 5737 (393 Ffefde
Y| - A7 T9a9dF (N AEEI (T | - SR T6 (W €9 61 - IRATT S8 S TRF NCHAE
SR Uy e FE| - SR AT O 5| I AT, 3@ 932 T S5z SR
SIINZD |

62. Question: TR F© ST AN NEHAT FIF FTT9 AT IE?
A) S>3 ST

B) v»9v© AT
C) $29¢ NI



D) 5598 ST

Answer: B) 5599 HI&T

Explanation: - $>b> NEF ¢ (HTF FI@E TN TS 2N STEHeT 53 (393 Ffefde
3| - 97 T9guF (M NETEI (W | - SR T (7 ¢9 o1 - IRTT 98 JT MRIF NCHAE
SR TITW TS F@| - SARMNT A BT ST o5 |

63. Question: ITTGY (T (T A SITHAT FE (AT JTHIF A2

A) EE@FF RIS
B) SHIES sfoxTaT
C) MRF G
D) 7{&%% 8 wifsmy

Answer: C) TRFF66

Explanation: - 533 F1e1fe RO ST(AfO0e (@& T - ST (T | - S>>y T GfS5F, N S
W, TAFTN YA 3 STHWT AeeA2e FIAFE FTF SIEFAT IR TNA (A 0F A6 AI0
TR Sl SBHRICT 75 TV SRS AFNS T AT 92 TFFF S FEA SIFo1F A3 A afifefim|
64. Question: (&6 fTFCTF AT (NAM) -9F ST S A (F19 T2 S0© 23?2

A) fogt

B) S

C) B1&T

D) I15te HfC Ffed Fa1 2@®

Answer: B) S99

Explanation: =6 Jifed Fa71 2@®

65. Question: SIANSIRTT TEEITST *FTW (GCC) AT W KA F67?

A) ¢
K
C) v
D) b

Answer: B) 9



Explanation: - GCC ( Gulf Cooperation Council) X &5 SoS15F Siade! AT SR b
(CTE ST 51108 AFf6 TSdeF 8 ANAf6F (S5 |

66. Question: BIMSTEC 3 ya@g Ws19?

A) TR0
B) STNf&
C) Afifdws
D) Iftafes

Answer: D) (< (Economic)

Explanation: BIMSTEC (The Bay of Bengal Initiative for Multi-Sectoral Technical and Economic
Cooperation) $»29 STER b I ‘THRIF RGP 97 N AfofPe 271 a6 a3 Tfafes
SRETSST SICFT| - BIMSTEC SWaw@d Y058 SE b© (6T bIFTT SEEe Fa7 23| -

67. Question: Y& (@ N (F1NT afefde 23?

A) 5B ST AT
B) s»be ST fdie
C) 5»»8 T FIE©
D) ¢ ST GIF

Answer: A) 52 Y NI JTE0O

Explanation: STT& 2 9%l AFAE (WISTNE aF0 AefeiF (61 - S»v¢ T v for=g ooy s
AfSfS® 27| - 97 9 T (AT FOAY 2 A8 | - WEFF F0fy w6 |

68. Question: FOTET ISH T T2 AT Fo?

A) S9¢
B) Vba
C) v90
D) v2e

Answer: B) S
Explanation: - STTOSET TS N5y ST $»0fG | - NI STAS JEAT GiSel U1 (58 TFETIR 20881 -

SO oY TEHS AT R | T SNoFE 6 a3 BT - SReIE I SifomEa Toh
el TENE @21 - FEET T [ S oy FFe 7 97 F95 77|



69. Question: IRTT FoIF IF AFIMI T TS FE?

A) 8 J1F
B) v 37
C)sqd
D) 91

Answer: B) © 919

Explanation: IRAT 9 G fTITST AFTAMT T 16 FE@ 2 IF| - FANDF - $D-vo (FAW
- FESIIATE - Y000-0% (AT - ST A (BIYA NACTT 2008 WET IRATCTH AfSfAfy ReTE
faarTel A g o Terfos F&EA|

70. Question: FRAPT TIFIF FHFHHT KITHAT F© A2 Aerean FIA 53S?

A) sou
B) 580 (R)
C)sop
D) seq

Answer: B) b80 (3)
Explanation: - IRTAT TIFHNEF 109 q2 Se=m IRTAMCTT S5 MRS THT 9F 7 AFEF

FHPHA TS T FofT Q@ | 2 IS ST IR TRfTF WSw Fhra ([FfFasifyy sfde
F®|

71. Question: fed GidP 519 SMONREF (FINTT IRFAT O /I IS A0l FEF?

A) 3fF fFFma

B) 38w (UNESCO)
C) 2@™@ (ECOSOC)

D) STTEE AT SAEE

Answer: B) 25@0%Te (UNESCO)
Explanation: - IR $298 STEF $9 (NG INORET SO YT NuNyW & (| - 9$2 IR

STENE TG 10OF AT IRATTT T R (7 |

72. Question: Y@ O e AATHf TN IRT@CTH TF SfSfAfEg FEA?



A) (SATET (TR SMSTS ST ST
B) FH ARG (el SRS

C) F12b (THHGNIBb NS oF FZT

D) P L A (F A9

Answer: A) (SIEe (NEFAY SATGTG ST SFAA

Explanation: - 9% ST b SET MFI TR Ho THF G2 CIFE (@ TI9
BFG-IRATT (WY FANSGH (A6 ATHHA FE| - TFT IMRAT T (RGNS (SN AT
SETR ATeT TS SRSl Tl ATHe FEA |

73. Question: FFAT FIF TTF TG 35 F© b ?

A) Sy, oo B
B) v9©,500 &
C) S¢,000 B
D) 38,000 B

Answer: A) S}, voo b

Explanation: ST Kursk submarine 3 (5 - ¢oo G| a6 STANTIAS sTHe] ¥ A3(0
SR e -

74. Question: (SRFTAN NFHGF =TT (TS AT TSA NI NPT ©oF TA®| ) FETERT
FBRNPIANETR (o [T NG (@ ANSTE (7 (FTA6?

A) ©1F®

B) RT3 (SESEI
C) IR@T

D) (STTIferaT 8 wfsfer syae

Answer: B) TREEAT 8 (SERSET

Explanation: - ZS=E3 BRI J511e Corruption Perceptions Index-2020 ST fRUgd
AT I TIET I ‘ﬁa [CRES

75. Question: (SRFTAT SFH6F SR ; TSAN 93 T35 ST A 71 ) F{CIT T2y
TS 2000" MG SEPTIE AT A Tors (@ M TA® (@1 (12

A) fFI=
B) (FfaaT



C) T farSfafar
D) IR =6 Jifod FT T@®

Answer: D) IR

Explanation: (G ifee 91 2@®

76. Question: (SSFEIT TFAGF ST T | TSN NI BT SIATF Sely T (T3 1) Y000 N
(AT NS THT TS FEF (F?

A) (TS 3w o

B) (1 (&1 (R

C) =8 f:fda

D) afs® FM&e T30 Fifed Fa1 2@

Answer: D) af§% SIS

Explanation: T35 Jifee $a7 2@®

77. Question: TJINF 3xGT TR (FAG?

A) AT

B) 38@

C) &3d A =FT
D) af*ray

Answer: D) af¥13T (Asia)

Explanation: aff 31 =21meT: - affET 9IFe@ [{e9d 3265 9% FEF Sadge N2 | - 93 NZOeE
e STTAT fACIF (NG BV - 90% 973 (M6 ST - AT Yo% FIIN FH |

78. Question: APIAFSIF THTSH (TFTT FEF ST F4T 7?2

A) So afF, $595

B) x¢ 16, 5%

C) 9 316, 5%

D) 59 affe $59%

Answer: B) ¢ W]ﬁ, NOEN

Explanation: So af3e 95 HTSF (FRTTE APIAFSIE S FAT 2T 93 - 19 a3 7=



RTT Al AR NNPSNE IHTSTI (FIAT 1A 1 FEA |

79. Question: @M:fF @ 0T TS

A) SR

B) 773@
C) (IS
D) feerTs

Answer: D) f5dTTS - (ER(F faemes a5t |
Explanation: (5T 91 - ey ATEI/MS@ a1 - Republic of Finland FTS&TE! - (R s[@a

I - TS TE S (TeITve ST - Ty 8 SRR TG A - Gl
(Eduskunta)/=T{5 (SIS - Y00

80. Question: (FTF AFF (7T NI IRANNF JPho Tuia FE?

A) 6
B) farrg

C) 3@e
D) 391

Answer: A) 5619 (Jordan)

Explanation: - 331& 5% AIF3 (77 fROTE IROTE NP6 (07 & TR SR WE| - afe Feyaesa
FFOTaIA T (77 2| - (I IRAWNE FPhe (0T 3% A6, $»0 | - 2T IRAWE JPho
(T X} (HFIAMF 52981 - (N AFF $29¢ A b ABFE IRANE FPpfe said FEF |

81. Question: (T ST (W (FAG?

A) 81 Fe

B) AteT=T

C) NfFgr

D) IR=wT

Answer: D) IR

Explanation: - feifeT @ (WSS STSTR (W © FTATST - (T SHCTR (77 IRATGT - TSH IO
@ : TS - 2SE SR (7 : 2T (SXE: RS 8 (PISTE S@IATRb)



82. Question: IRAT AFTCHIF [T SI@ N {F foeT?

A) ST 1SS
B) T B

C) SI=N df&e
D) I 2GS

Answer: A) BITAT TRoS

Explanation: IR AFEH b>¢¢ NER © fEOHT oFF afefde T ST ATWEEd (3@ 92
AN AOP® 2| - IRAT ST 3 WRCOTF 561, STEI 3 TG TEH SIFTA T MFIN (TS
$ACT) A% AFTSH ASHT FAT 2T | - ©FA & MFINAF AN FIPINH ITSIA I

FGI-1 9% AFNGHNF W0 wg FTe 27|

83. Question: TIFT f[IeTNsT FIG T AM=?

A) se o
B)safe
C)ss fo
D) se f&

Answer: B) va f6

Explanation: TSN IR ST AT AGH | AT T BT TSNSt FIEE @ Seofb &l |
(SVTI ST =G - BT, SIS, (SETeTs18, BIRTE, Fenasa, Mwrasyg, Miassra, JH1s1a, e,
FARKE, TATITH, TSI 3 BRI 205 ST FAFAPRE ST T8I AT GIFT RISTeT (Sl
SR o - $af|

84. Question: BIF AWy 3f6fFe =3 @1 T?

A) Sdo¢ HTT
B) S5 ST
C) S>9¢ ST
D) S92 S

Answer: B) 525 ST
Explanation: - 513 [afIwye IRAWeTE STbides, NEFRs A3 SRIGeE Javes J16ia Mozt

THAFT 8 I ASTA| - S>30 T SIS FHATOR 3 b1 AT ARTIET SIS FETH
S IR SRS Rl RRovE o fafawrea@s w85 27|



85. Question: SRGEH Ul J1 fF?

A) TS
B) &N E
C) (TG
D) (T

Answer: D) (2191

Explanation: (WCTE 91 - 536 FEIF/THIAF a1 - Kingdom of Sweden ATSETAT - SHF@R J[@F
I - SRS (1l FEIT ST - RFGT R A - FTRANGYS (Riksdag) *Taaia3] - RFafas
Foed & N: FAGIFT 8 8ITE aBeT |

86. Question: NAM -9F TONT F05 k2T FG?2

A) Soo

B) Sho

C) 458

D) sxo

Answer: C) 58

Explanation: $>¢¢ ST I3 (REATEAT) AT AT (S6 VS0 snewrera 1 153 (NAM)
e T S5 YD T TEF JETANSIH TS (FAES T F T Aegera orffde 271 T8y
SCRET S8 S FrIEa FIET® IAev© 27| -

87. Question: FHFSFY (TFBIHIG (T AT IAIFF© OIF 1 57?2

A) 7 &

B) (RIARE T8

C) 22 oW

D) NTETET TS

Answer: C) 2T S15m

Explanation: - IEFEWE M@ STNEAF (TISET @ D0S JET FAFSFARE Ial 8F 27|

88. Question: Yo I FF 2w 2J?

A) SBSD ST
B) &8> S



C) Sbod ST
D) S ST

Answer: B) Sv8> NI

Explanation: - 81wz 27 fRtef R STTEa a3(6 547 (I TR 1EF T 3537 Hws wig Fa1
@11 - 35 ST (FPNAT SToHT (SANET A6 SRR (T63F Sod ST ARG N TSIz T
e FEF| -

89. Question: TNA HZ (ST (FINTF ] dw 3J?

A) BTFT
B) FIfwat
C) FE]

D) FIG

Answer: A) GIFT

Explanation: - S S Wil AT TIOT 53 S5 F4T 27| - ST 3 AfFewean afqww s99
SEHN 2 ARSI 5558 NI (VT FOAGO [0 2| - 008 NI 5XF 3 Ao
TR AT oo afZper TTT (FOTEA (ST 3T 1% (ST |

90. Question: WA fREIRT (FTH (ST AIFFe?

INEIGERIE]
B) PG

C) franssyg
D) EIGEIEEEY

Answer: C) fuea&g

Explanation: STESI SRTT IRAGCTT fRBIZeT... FHATF - 89 TAMRS(T - 8 IRAGPT 0T SHGT
fRBReT.... TRTHATRIE - € TPTG - Vb FRGAW - SR FTHRNE - 8 - TRAW-AGIICTST FB7=eT
TRTNRIG (ST A3 |

91. Question: fTSET ANAFEF FE@a-

A) fFSfa
B) AMEA®IS
C) ¥
D) BTG G2F



Answer: A) f&&fF (Curie)

Explanation: ffSE&a (Neutron): - fASET Snx@2ia (Neutral) 31 518 TF0TE FT1 - SD©3
SIS 62 (James Chadwick) fASES SNfIgd @ | 3319 ©F AT (A ©E@S NN | - AFH@
SIS TIH =TOT FF TIHNF VOFIT [ SE fFwmre| - [ASEFEF T61F (= n | - FHSH@R SI1eT
©F 1.675% 10-24 g

92. Question: (INF FOFIIF [TOEF 2T TN [FF SITNAT TAF ¥ @I I TH-

A) SIRCIGT
B) SIREIE
C) SRR
D) SNRCGI

Answer: A) SIIRGTT (Isotope)

Explanation: SIRCTIGT (Isotone): (T N9 f[TSFRGH fASEF 23T (N) SN O Fe] 77 RN |

93. Question: SCERIGH SIS 4T 13-

A) FERGE

B) STGIRGE

C) RRENRIEE

D) By IRGE

Answer: B) 3OINGI

Explanation: STGTOTRISE SIS fAdTF 79 - BNENGE Sfemy 5ife [T3s 37 - (@1 Ged
TCF IS T TF T - STOINGIF TG T ATATF I - FABGIE
94. Question: BfF* [ 7% I3-

A) NG

B) CTHLIG

C) MEfNo1

D) s

Answer: A) STEMNGIF

Explanation: S (3% 3% - SIS, SR SigeT S 37 - fHAG1E (34, IHsTT 17



T T - FEMCE, 932 TS OIT=@] N IF - TRERCE|

95. Question: IR (GRS (VT FfoFa AN (IF -

A) st FR3
B) 361 3%
C) %% afq
D) F&a A

Answer: A) st 331

Explanation: X-rays are produced inside a monitor's cathode ray tube (CRT) when electrons
flow (in a beam) towards the screen, striking the inner surface, causing it to glow. Television
screens work by the same principle. The units are designed and shielded such that levels of
X-ray emission do not exceed federal limits, and are most often not measurable above natural
background radiation

96. Question: S <& T8 7 23-

A) TR o Tmfore

B) (O&%IoId BT

C) avafas fRfFTa v@
D) FF S+ Tmiete

Answer: B) (SO%I01E B
Explanation: ¥ (3@ (T *1f& T8I 1T ©IF I 27 (NA(E | S 53T <1eq T35 Jf¥ite Jo e

IR ©IF IR (FIET T (FRATSNR S (2R AT 315X [F7 5770 @R (o TF®| - TP I
=ed TS AFAAF =i, P T ZS=e R e e T =e 271

97. Question: (T3] JEHF RS-

A) ST TS

B) o=

C) T3 4q@F N7
D) af&s

Answer: D) af&s

Explanation: - 5 af&s 371 (G7] I@F 9419 IRF | 92 FTF FING (G7] @ SRAN NATOE S&@T
FE IR A 2F| - (53] SRATI ©RACIF GIE(6 NEGRT TR ((GF-S, (G-}, (G-© 3 (G-8)| -



S (0T 2000 S (G5 FET FIFTA AP (7T (| (78 ST (GO SRACIT 92 61f6
fSETBIRE &y BR7-© BRI e fAeRiEs)
98. Question: (SIferAT ST FE-

A) T315 2%
B) B afesta

Answer: D) IMEAFNBIT &l

Explanation: - (SfafSifeie a3 ya@a syt 1 (fafsiferams as =ar (3@ (ofF 2371

99. Question: f3d TS AfSfFAT 92 (MCTF Ty SIRZ ALPTFF F1F9 T TIGAR| 9T TE-

A) 3T IET Ffo 13 2(© ME
B) 3fR=ted =f{me F61 (F@ N
C) Au-Ta1g T FE (F®@ MNF
D) uerd SHel (IS (I =M=

Answer: A) ST IEF Fo J13 T® TE

Explanation: - f3z18% afefFa1a T SR&AF el 3 5ME | - a0 I (T FFewR R
ST I SF© ATHT IT% S0 BF FAE| - IF SR A A SHol (o M| - HTphoro
IRIHR RATT TS AGF g T MNfoe e 2 &@|

100. Question: ) AR (0T TV ST 0TS ST | FTH-

A) SR SR SRS 98 FE

B) AT 8 IWF IAFTFT NI (w7

C) (MCTF I dfoF SHIE (FIET AI9 (2

D) ST SR &31ST F@ ANENE [T A0 8 ST Tore@ 6

Answer: D) ST AR SIS FE A [t any 8 §iF Ssre@ I6I

Explanation: SfRECT ST S (F1 (M7 (N6 ATSEH ffele 3¢ BIsT Fagf NHe 27| o
FREATCT TGN ST (NG AT TSFAT 59 BIST| ARG (T Ias TN A07d SFFA |




